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1. 3% o, 1 91 TF sEmafas oo €, a

3.

4.

l-w

O +@°

(a) 3
®) 2
(©). 1

4
@ 35

FAA TS ?

LFaT 0, 1,2, 3,4 dR 5% (WAF F

TS 9R) I9ART FF 6 il arel uEt
forat d@ama swrE S wadt & S 6 &
wIsg B ?

(a) 96
(b) 120
(c) 192
(d) 312

e w@ 1011 % g fg-smad
I R ?

(a) 1011
(b) 111011
(c) 11111001
(d) 111110011

A T 4 T 3x3 HfE &1 ATgE @
IR |4|=4 B | AR |2 adj(34)| = 293P
®, A(a+f)TMAFT FIE ?

(a) 12
(b) 13
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(c) 17

(d) 24

5.9fG o 3R pEHIEW 2 -x+1=0F

100 , @100
+p
100 &l HIE =T

fawm & a
27

(a) V3

() 2

(¢) 1

(04
alm__ﬁ

1
@ 5

6.7 dftlt 4 3R B wvm +f &

AT AGE €, T (4B - BA) ¥ wow
# fforfaa % & S-mr ww @@ R 7

1. Zght faet wfafear som <few
IR &

2. z@ht R-faaof (Non-diagonal)
wiafiat 1 anmeer = @

i fiu U g W W@ W oEE SW
FT =g HIfoT ;

(a) Fad 1
(b) Fa« 2

(c) 13R 23]
(d) AT 1,982



1. If @ is a non-real cube root of 1, then

what is the value of 1—0)2 ?
w+w
(a) 3
(b) 2
(c) 1
4
(d) Nl

. What is the number of 6-digit numbers
that can be formed only by using
0,1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

(d) 312

. What is the binary number equivalent
to decimal number 1011 ?

(@) 1011
(b) 111011
(¢) 11111001

(d) 111110011

. Let A be a matrix of order 3x3 and
|A|=4. If |2adj(34)|=293P, then
what is the value of (a+)?

(a) 12

(b) 13

© 17

(d) 24

. If a and B are the distinct roots of

equation x2 — x +1 = 0, then what is the

a100+ﬁ]m 4
% _gioo| *

value of

@ 3
®) 2
(c) 1

1
@ 7

. Let A and B be symmetric matrices

of same order, then which one of
the following is correct regarding
(AB—-BA)?

1. Its diagonal entries are equal but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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7. T S nF TS T AR 4, B, C
& "ol # frafafes st = fimw
ENE L

1. AB=AC = B=C,af¢ A=A
2

Z.m%uﬁﬁﬁﬁﬂﬁ?ﬁhrﬂﬁﬁifﬁ
fu Bx=Ccx ®, @¥B=C

Ioge FaA # FA-a1 /A w8 2/% 7
(a) Faa 1

(b) a2

(c) 13K 23t

(d) AT, 782

8. faw witemwr e x+2y+2=4,
2x+4y+2z=8 3R 3x+6y+3z=10
F1/%

(a) wfgeha et 2
(b) IARFT & &

(€) 1 B & ©
(d) w& o T ©

. AWM ST AX = B, 3 FWEI & €19
3 Waw gt o1 o= Fremg & | 9@
i x, 3k X, % & B e €1
e aX, +bX, F €IS, AX=BH TH
T ©, el ¢ 3R b IEAfGE g@ g,
A Frafafea & @ -1 facs ot
27

(@) a=b

(b) a+b=1
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10.

11.

12.

(c) a+b=0
(d) a-b=1

0 x-a x-b
0 0 x-c¢
x+b x+c 1

& FEl 1 ARTH T & 7
(8)-a+b*c
(b) a-b+c

(c) atbdb-c

HHIET =0

@ a-b-c

afe 2-iy3, &l i=+-1 8, wfEw
Lt+ax+b=0F Th G & A (a+b)
AW TR 7

@) -11
(b) -3
) 0
@ 3

afy z=:2£ sl i=v-1 ®, @

z T ST 1§ 7

W 5

o)z

~(e) 3

@ &



7. Consider the following statements in
respect of square matrices 4, B, C each
of same order n :

1. AB=AC = B=C if A is non-
singular

2. If BX=CX for every column
matrix X having n rows then
B=C

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

8. The system of linear equations
x+2y+z=4, 2x+4y+2z=8 and
3x+6y+3z=10 has

(a) a unique solution
(b) infinite many solutions
(c) no solution

(d) exactly three solutions

9, Let AX=B be a system of 3 linear
equations with 3-unknowns. Let X
and X, be its two distinct solutions. If
the combination aX;+bX, is a
solution of AX = B; where a, b are real
numbers, then which one of the
following is correct ?

(@) a=b
b)) atb=1

10.

11.

12.

(c) a+b=0
@d a-b=1

What is the sum of the roots of the

0 x—-a x-b
0 0 x-c¢
x+b x+c 1

equation =07

(@ a+tb+c

) a-b+c
(c) atb-c
(d a-b-c

If 2—i+/3 where i =+/-1 is a root of
the equation x? + ax + b= 0, then what
is the value of (a+b)?

(a) -11
(b -3
() 0
(d 3

143
1-iv3

what is the argument of z ?

If where i=+/—1, then

%
(a) 3
e
o) =

) =
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13.

14.

15

16.

afe a,b,c APHE

x+1 x+2 x+43
x+2 x+3 x+4
x+a x+b x+3

T soac 2 7

(a) -1

(b) 0

{©) 1

(d 2

afg log,a, a* 3 log,x, GP #E @
x Torah seR R 7

(a) log,(log,a)

(b) logy(log,b)

(C) Ioga (;Ogb a)

(d) log,,(log, b)
2
afk 2¢, 2%, 2% Gt & 1 PR
# H-91 UF T ® 7
(@) a, b, c,APﬁ g
(b) a,b,c, GPH £
(c) a,b,c, HPH &
(d) ab, bc, ca, AP ¥ &

TF AP 91 el AR I 9% FD

%#‘I%%I‘T&nﬁqﬁw_

HUTHE UG €, al n & | T8 ?

(a) 5
(b) 6
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17.

18.

19.

() 7
(d) » frdifa =& fear s =

k% foa quifd AT (integral values)
F foau w2 —4x+k=0, @i
kot e ?, ¥ arafes gw § ek
TH A SR (0, 5)F ¥ ?

(@ 3

(b) 4

() 5

d) 6

TE AP #, qzmqax%ak‘rsé
n‘lﬁfﬂmﬁfﬂglmmqﬁ
T IR 4T & ?

() mx(m+ n)
n-1

(b) mx(m+n)

l-n

© nx(m+n)
m—1

@ nx(m+n)
1-m
frfafaa st = R $ifto .
1 (25! +1,26 9T &
2.(6)!+1,7 A9y B
ST FaAt # H-w/d w2 /E 2
(a) &4« 1
(b) &ae 2
(c) 13 23Et
(d) Fa11,7€ 2




13.

14.

15.

16.

If a, b, c are in AP, then what is

x+1 x+2 x+3
x+2 x+3 x+4
x+a x+b x+3

equal to ?

(@ -1
(®) 0
) 1
(d) 2

If log,a, a* and logyx are in GP, then
what is x equal to ? '

(a) log,(logya)
(b) logy(log,b)

©) log, (!;gb a)

(d) log, (g?ga b)

! e |
If 2¢, 29, 2% are in GP, then which
one of the following is correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP
(c) a, b, ¢ are in HP
(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and #3 respectively. If n™

term is the largest negative term, what
is the value of n ?

(a) 5
(b) 6

17.

18.

19.

() 7

(d) n cannot be determined

For how many integral values of £, the
equation x> —4x + k=0, where k is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(a) 3
(b) 4
(c).:5
(d 6
In an AP, the first term isxandtﬁe

sum of the first n terms is zero. What
is the sum of next m terms ?

(a) mx(m+n)
n—1

(b) mx(m+n)
1-n

© nx(m+n)

m—1

«d) nx(m+n)
I-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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20. 7 o v & 271 23, aik p R w22 4 ax+ 5 =0
Sl & firm areafass 7w § | o fauffa =

%;z:n sttt &, 1 |2| fora awmar ¥ for fraafafes # & S-w1 /3 =
L v ¢/¥ ?
(a) % 1. a+f=0, a?+p2=2
2 2.af%=-1,a=0
(b) 3
9 o T T W W@ W T oW
(© 1 3 ;
() 2 (a) &ae 1
21 fret s wemd R (b) 3 2
|x—4]|+|x—7| = 15 I TTE FA € ? (¢) 13Kk 23Ht
(a) ¥ TH (d) AT 1,982
(b) ¥ : ;
© ¥ A 24.“&(x_3+xzfog,0x) ¥ foug v #
il B4l U5 5600 ®, A x T /A 1§ ?
(a) 6
22. T&F %o f: A - B 30 YR gfeafya (b) 8
o= et TR © 9
3x+5
f ATOTEE ®, A 4 3R B fREd awer (d 10
L
25. Bx—y)Y'(x+3y) & waor # e e
(a) 4 =R\{-3} R B =R\{-%)} %x? G
(b) 4=R 3R B=R\{-1} , (@) 9
. (b) 12
(c) 4=R\{-3} 3K B = R\(0}
(e) 15
(@ 4=R\{-}} 3R B = R\{2} d 17

ASGT-B-GNL - A 8



20. If z is a complex number such that

21.

z-1
s is purely imaginary, then what is

|z| equal to ?

(@)

B | =

(b)

WM

(c) 1

(d 2

How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one
(b) Only two
(c) Only three

(d) Infinitely many

22. A mapping f:A—>B defined as

2x+3
x =
/@ 3x+5

then what are 4 and B equal to ?

,x € A.If fis to be onto,

(8) 4=R\{-3)} andB=R\{-§}
(b) 4=Rand B=R\{-3}
(¢) 4=R\{-3} and B = R\{0}

(d) 4 =R\{-3} and B = R\{%}

23.

24,

25.

a and P are distinct real roots of
the quadratic equation x> +ax + b = 0.
Which of the following statements
is/are sufficient to find a ?
l. a+B =0, a?+p2=2
2.ap2=-1,a=0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If the sixth term in the binomial ex-

pansion of [f’g +'x2 Iagmx]s is 5600,
then what is the value of x ?

(a) 6

(b) 8

(c) 9

(d 10

How many terms are there in the
expansion of (3x — y)*(x + 3y)* ?

(@) 9
(b) 12
() 15
@ 17

A - ASGT-B-GNL



26.p, g, r IR s AP ¥ 30 WK € &

27.

28.

pts=8 IR gr=15 2 g 9
IRTW B T F AT IR FATE ?

(a) 6

(b) 5
(c) 4

@ 3
g gl e n & fog feafofaa
wgAl 1 faEr i .

1. C,) T esa g afen=2r ¢

2. Cn, r)Wew® & A n=2r—13R
n=2r+1%

e waAT § wA-a /@ wé g /E
(a) ¥4« 1

(b) ¥4 2

(c) 13R23mH!

(d) A L,TR2

m WHIGR X@TU, n X@I3 & wredt §
qR 3@ 60 WHIR FgHT &9d |

(m+n)F AR TR ?
@) 6
(b) 7
(c) 8
@ 9
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29. MF WY 5% ‘PERMUTATIONS’
¥ WA f "§Em x € AR W=
‘COMBINATIONS’ & 8=t &t g
y ¢ | Frefafea & s-aradt & 2

(@ x=y
® y=2x
(c) x=4y
@ y=4

30. 3% 0, 1, 2, 4, 5 ¥, FRigha forg fomm
5-3hg wEAd S At € 1 50,000 9
T3 wEmst i vl et ® 2

(a) 20%
b) 25%

AW I T B (02) weAt & fog frmfofaa
R ferR $ifsa

¥ ST sina 3R cosa HT GM, sinf ©;
3R sing 3R cosa FT AM, tany 3

31. cos2p forres sReR & 7
(@) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa —sina)?

(@ 5




26. p, g, r and s are in AP such that

27.

28.

p+s=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(a) 6

(®) 5

(c) 4

(d) 3

Consider the following statements
for a fixed natural number » :

1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n=2r— 1 and
n=2r+1

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

m parallel lines cut n parallel lines
giving rise to 60 parallelograms. What
is the value of (m+n) ?

@ 6

(®) 7

(c) 8

(d 9

11

29.

30.

3L,

Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

(@ x=y

(b) y=2x

() x=4y

d y=4

5-digit numbers are formed using the
digits 0, 1, 2, 4, 5 without repetition.

What is the percentage of numbers
which are greater than 50,000 ?

@) 20%

(b) 25%
100

() ==

IIOV
ma———Ve

@ =

Consider the following for the next two .
(02) items that follow :

Let sinf be the GM of sina and cosa; tany
be the AM of sina and cosa.

What is cos2f3 equal to ?
(a) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa — sim:)t:)2
2

(d)

A — ASGT-B-GNL



32.sec2y MAM FTE ?

3-sin2a
5+2sin2a

(a)

S+sin2a
3—sin2a

(®)

3-2sin2a
4 +sin2ax

©

3-sin2a
4+ 3sin2a

(d)

AR AW AT T (02) WA & oo frafafea
R famr Hifog -

10m 3 T& @H T 20 m a1 UF &997Q08
& S a9 & fodt fog PR tan(0-5)
HT FARa aar § | 7 ST @W R =
fog P W safta @ o 2 |

BIWEHF@IPHR AR A
Frafafas w97t = ffER v .

LXE QAR GHRAE, M 1:3F
T # §

2. x EAWGUE il FAE & e Bl
gEHar ©

Sudth w9l A HE-a1 /A e R/ 7
(a) Fa |

(b) &ad 2

(c) 13231

(d AA1,TE2
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34. Tanf &1 G¥Ifed AF F91 & ?

(a)

Wi alw

(b)

W |

()
@ ;
AWM AW A B (02) WHT & forg Fraferfiaa

R famr $ifsrg

& Bt 4BC 1 ufmm, P & o %
sine & AM F1 6 TN ® | T0F @l
BC=+33Rca=1%

35. By = wfema 7= @ 7
(@) V3+1
(b) V3+2
(c) J3+3
d 243+1

36. frrafafaa @t w fmr 6ifs .
1. ABC wwairg Progst 2

2. P S A AP §

Ith FaAl § FH-|1/F G /€ 7
(a) &4« 1

(b) a2

(c) 1323l

(d Ad 1,982



32. What is the value of sec2y?

3-sin2x
5+2sin2a

(a)

5+sin2a
(®) 3-sin2a
3-2sin2x
. S
3-sin2x
4 +3sin2¢

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan"!(0-5) at a

point P on the ground. Let 0 be the angle
subtended by the pillar at this point P.

33. If x is the distance of P from bottom of
the pillar, then consider the following
Statements :

1. x can take two values which are in
the ratio 1:3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct 7

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan6 ?

(a)

w | | w

(b)

W | =

(©)

@ 7

Consider the following for the next two

(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC=+/3 and CA=1.

35. What is the perimeter of the triangle ?
@ 3+1
(b) V3+2
() V3+3
(d) 2V3+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL



AR A 9T 1 (02) WA % forg fefofea
K fa=r $ifsw

] .
R x=smA-!-smA+l,
sin A

WEl 0<A<— %

(SR

37. x &1 gAGH " TR 7
(@ 1
(b) 2
() 3
(d) 4

38. 4 % 5@ w1 W, x F HF w7

(a)

2|l olN

(b)

©

w|y

(@)

SR |

AW I A Q) (02) gt & fou feafafea
‘:I'(ﬁ'ilﬂﬁ‘ﬁvm:

st 4BC #, a*+b*+c* =ac+\3bc
39, P &1 ey @ ?

(a) §HETR

(b) wHfgaTE

(c) wwahoita Pt

(d) fwwamg fem wwanig 8

ASGT-B-GNL - A

40. afg c =8 %, ot Bt =1 STt T R 7
(@) 43
(b) 63
© 83

@ 1243

T A 9 9 (02) v F fog Feefafeaa
R R $ifs .

F f(x)=|x-2|+|3-x|+|4-x|,
X€ER '%, < ﬁ?ﬂtiﬁ‘ﬁﬂ -

41. x & 5 99 R Fod A9 99 W
AT e ?

(@ 2
() 3
(c) 4

(d 0

42, T F FATH A T8 7
(@) 2
(b) 3
(c) 4

(d o



Consider the following for the next two 40. If ¢=8, what is the area of the

(02) items that follow : triangle ?
A .
sin“A+sinA4+1 14
Letx= smA where 0<A$E (a) 4‘\[3
37. What is the minimum value of x ? (b) 6V3
Ll (c) 83
(b) 2
(c) 3 @ 1243
d) 4

Consider the following for the next two
38. At what value of 4 does x attain the (02) items that follow :
minimum value ?

Consider the function
n f(x)=|x-2|+|3-x|+|4-x|, wherex € R.
@ <
# 41. At what value of x does the function
(b) 2 attain minimum value ?
n (@ 2
© 3
(b) 3
n
@ 2 (c) 4
Consider the following for the next two (d 0
(02) items that follow :
In the triangle 4BC, 42. What is the minimum value of the
a®+b’+c? =ac+3be function ?
39. What is the nature of the triangle ? (@) 2
(a) Equilateral (b) 3
(b) Isosceles
. : (c) 4
(c) Right angled triangle
(d) Scalene but not right angled (d o

15 A - ASGT-B-GNL



AR AN T o (02) W F o et
R famr Hifo

ART S=01+11+21+31+4! +. ...+ 100!
R famr ifSig .

43.7f am s =t 8 A Fnfm fr s,
¥ ANFH T BRI ?
(@ 0
®) 1
) 2
(@) frifa =& foar s s

44. afz a7 S &t 60 ¥ famfSa fFn s,
ar AeE T B ?
(@ 1
(b) 3
(© 17
(d) 34

R W 91 o (02) WAt & forg fafofaa
R =R i .
B PoR #, P R =y @Fw } oK

cosP=1 % | % sfofes P =1 siada
g9 W PQ, QR #R RP & wwW:
N, L 3R MR 38 &R @yl axar ¢ & PN,
QL SR RM &t &aTé F9N: n, n+2, n+4
8, W&l n U 9 wew R |

45. n FHA | & ?
(a) 4

(b) 6
(© 8

@ 10

ASGT-B-GNL - A
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46. TR BNt o Y warg foert B 7
(2)
(b)
(c)
(d

AR AW 91 37 (02) WAt & forv fafafeaa
R fmR v .

ez wr @ o6

sinx +cosx+ tanx +cotx+secx+cosecx=7

47. feu . whew @ fee afexo #
TG (reduced) foram o waar @ 7

(a) sin®2x-44sin2x+36=0
(b) sin®2x+44sin2x-36=0
(c) sin?2x-22sin2x+18=0
(d) sin®2x+22sin2x-18=0
48. af¢ sin2x=a-bJc ®, 9l a 3R b

g9l HEATd § 3R ¢ UF IAWTT "EAT
TMa-b+2c AT TR ?

(a) 0
(b) 14
) 21

(d) 28



Consider the following for the next two
(02) items that follow :

Consider the sum
S=0!+11+214+31+4!+. ...+ 100!

43. If the sum S is divided by 8, what

is the remainder ?

(a 0

(b) 1

(c) 2

(d) Cannot be determined

If the sum S is divided by 60, what is

the remainder ?

(a) 1

(b) 3

({4 e

(d) 34

Consider the following for the next two

(02) items that follow :

In a triangle POR, P is the largest angle
and cosP = §L Further the in-circle of the

triangle touches the sides PO, OR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n, n+2, n+4
respectively where n is an integer.

45. What is the value of n ?
(a) 4
(b) 6
(c) 8
(d) 10

17

46. What is the length of the smallest
side ?

(a) 12
(b) 14
) 16

(d) 18

Consider the following for the next two
(02) items that follow :

Given that
sinx +cosx+ tanx +cotx +secx +cosecx =7

47. The given equation can be reduced to

(a) sin®2x—44sin2x+36=0

sin? 2x +44sin2x-36=0

(b)

sin® 2x—22sin2x+18=0

(©)

sin? 2x+22sin2x—18=0

(d)

If sin2x=a—-bJc, where a and b
are natural numbers and ¢ is prime
number, then what is the value of
a-b+2c?

48.

@ 0
(b) 14
(© 21
(d) 28
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W AW T T (02) W F forw Frafofea
T{ﬁ?l'(iﬂﬁ'q

s feuria aeftemer saver foar mr @
(3+2ﬁ)x2-—(4+2\/§)x+(8+4ﬁ)=0

49, TR F Tt H HM ¥ ?
(a) 2
(b) 4
() 22
@ 243

50. ¥l & HE F GMHTE ?
@ V2(V6-3++2-1)
) V2(V6+3-+2-1)
© (V6-V3++2-1)
@ (V6+43+42-1)

AW AW T QY (02) WAt & forg Fraferfeaa

w #ifig

a b ac+b
b e ba+c
acd+b ba+c 0

Aa, b, c, )=

51. gfe A(a, b, c, a)=0?ﬁ TAqF a>0
& forg fremforfea & S-wradt & 7

- @ a,b,c APHE
(b) a,b,cGPHE

ASGT-B-GNL - A

(c) a,2b,c APHE
(d) a,2b,cGP H®

52,3 A7, 4, 2, @) =0 7t o Frafafed
# -8 TF THIGK 1 T (root) B ?

(@) 7x*+4x+2=0
(b) 7x*-4x+2=0
(©) 7x*+8x+2=0
(d) 7x*-8x+2=0
R AW 9T B (02) Wl * forg Frffea
W e fifig:
far mar & &% m(6) = cot?0 +ntan20 + 2n
el n U oga uons arafis de 2
53. m(0) 1 A" | T ?
(@) n
() 2n
(c) 3n
(d) 4n
54. fom wfaw & siefa m 1 7 =mam
B ?
-(a) n=tan?0
(b) n = cot?0
() n=sin®0

(d) n = cos?@



Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2JE)£-(4+2J§}:+(8+4J§)

0

49. What is the HM of the roots of the

50.

equation ?
(a) 2
®) 4

© 22
(d 243

What is the GM of the roots of the
equation ?

@ V2(V6-+3++2-1)
® V2(V6+¥3-42-1)
© (V6-+3+42-1)
@ (V6+3+42-1)

Consider the following for the next two
(02) items that follow :

Let A(a, b, ¢, @)=

sl.

a b acd+b
b c ba+c
ac+b ba+c 0

If Ala, b, c, a)=0 for every a > 0,
then which one of the following is
correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP

19

(c) a, 2b, c are in AP

() a,2b,carein GP

52, If A(7, 4, 2, a)=0, then a is a root
of which one of the following
equations ?

(@) 7x*+4x+2=0
() 7x*-4x+2=0
(c) 7x*+8x+2=0

d) 7x*-8x+2=0
Consider the following for the next two
(02) items that follow :

Given that m(0)= cot?6 + n’tan’0 +2n,
where n is a fixed positive real number.

53. What is the least value of m(8)?
(@) n
(b) 2n
(c) 3n
(d) 4n

54. Under what condition does m attain the
least value ?

(@) n = tan?0
(b) n = cot?d
(c) n=sin’6
(d) n = cos*8
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I T AR 2 (02) WAt F fore Prffa
R f=R $if

T x=0, y=0, x+y=1 3R 6x+y=3
¥ U G = > R

ss. PTG (origin) ¥ TR T
foraof =1 wftawor 7 @ 2

(@ 3x+y=0
(b) 2x+3y=0
(©) 3x-2y=0

(d 3x+2y=0

56. gEY famf 1 wefiaor a1 @ 7
(@ x+2y-1=0
®) x-2-1=0
) Zx+y+1=0

@ 2x+y-1=0

ST S AT & (02) WAt 3 for Frfifia
w R $iftm

qHgE 2+ 42 =1 W & fag P, y) ? |
WW&F&H@%W%I

57. PE + PF T aaer @ 7
(@ 1
(b) 2
(c) 3
d 4

ASGT-B-GNL - A

58. frferfa fergalt w foraw i -
(59
(89

. 3(£’ __1.]
e
F fou e fagert # -an deigw ¥
A (latus rectum) R & ?
(a) Fae 1 3R 2
(b) Fa« 2 3K 3
(c) ¥a 13K 3
(d 1,23K 3

I I A A (02) WA F forg Freferfea
R fer Hifig

Wly=x J9 (x—af +y*=a* T Qq Gei &
Fedt ?

59. WS FT &AB F1 { 7

(m—2)a’
4

(a)

(m-Da*

®)

(m-2)a®
2

(c)

(r—1)a?
2

(@



Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1 and 6x +y=3.

55. What is the equation of diagonal
through origin ?

@ 3x+y=0
(b) 2x+3y=0
() 3x-2y=0

(d 3x+2y=0

56. What is the equation of other diago-
nal 7

(@ x+2y-1=0

b)) x-2y-1=0

() x+y+1=0

d 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x2+4y2=1. Let E, F be the foci of the

ellipse.

57. What is PE + PF equal to ?
(@ 1
(®) 2
©) 3

d 4

21

58. Consider the following points :

2 3

{8 o]

\

(V3 1)

(24

ety |

(ﬁ -1]
: ]

Which of the above points lie on latus
rectum of ellipse ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2and 3

Consider the following for the next two
(02) items that follow :

The line y =x partitions the circle

(x—a)? +y* =a* in two segments.

59. What is the area of minor segment ?

(m-2)a®

(a) 2

(r—1)a?

L

(m-2)a®

(©) 2

(m-1)a*

@ 5
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60. THEE H AAFA T & ?

(37 -2)a?

(a) 2

(Br+ 2)::12

(b) 2

(31 -2)a?

G

(37 +2)a?

(d) 2

AR W A 3 (02) W & fory ki
R fomr $ifso .

T A A1, -1, 2) R B@, 1, -1)
LI x2+y2+zz+2ux+2w+2wz—1=0
& oI & o fag €

61. u+v+wTFaF s & 2
(@) -2
(b) -1
© 1
(d 2

62.3f P(x, y, ) M4 W o€ fag & @
PA* + PB? formds seR § 2
(@ 15 |
(b) 14
(¢) 13
d) 65

ASGT-B-GNL - A

22

AT FW AT 3 (02) W & forn Frafafea
qtﬁanaﬁﬁq

3 @ | AR A e g s
@@=l 2)@?(&,3,5)%1&%@@%%

W I €

63. k 1 HF TR 7
(a) 4
() 2
(¢) 1
(d -1

64. 36 @1 & fox e w1 €, s St
Tt W R 7
@ (1,2, 10)

(b) 1,-2,10)
() (11, 12, -10)
(d) (11, 2, -10)

W AW AT 2 (02) Wl F forg Frafafaa
R fEr $ifvo .
wA A @ =3i+3j+3k R T=/-%
R W Wifw b R & fF b =27
3R axb=0c 2 |

65. b fra R & ?
(a) 3i+4/+2k
(b) 5i+27+2k
(c) 5i-2/+6k

(d) 3i+3j+4k



60.

What is the area of major segment ?

2

@) (31:-4 2)a
(37 +2)a*
(b) S
(3m—-2)a*

(©) >

(3 +2)a?
(d) T omr

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2, 1, —1) be the end
points of the diameter of the sphere

x2+y2+zz +2ux+2vy+2wz—-1=0.

61.

62.

What is u + v+ w equal to ?
(a) 2
() -1
(© 1
d 2

If P(x, y, z) is any point on the sphere,
then what is P42+ PB? equal to ?

(a) 15
(b) 14
(c) 13

) 65

23

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (k, 3, 5). They are inclined

at an angle 2
%

63. What is the value of k?
(a) 4
(b) 2
() 1
(d -1

64. What are the direction ratios of a line
which is perpendicular to both the

lines ?
(@ (1,2, 10)
(b) (-1, -2, 10)

(c) (11, 12, -10)
(d (11, 2, -10)

Consider the following for the next two
(02) items that follow :

Let 2=37+3/+3% and €=j—k. Let b
be such that 3-F= 27 and 3x?= 9¢
65. What is b equal to ?

(a) 3i+4j+2k

(b) 5i+2j+2k

() S5i-2j+6k

(d) 3i+3/+4k
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66. (@+b) ¥R ¢ % o = o T £ 7

(@)

N

(®)

w3y

(c)

Sk

@ 7

AW AW T T (02) 9T F e feafafam
Wﬁ?ﬂ%‘l

we Wi ue wfew E’=4?-8}'\+£, %y, 2
FEt 6t g LAt & @ waw: o, B, y
I AT € |

67.003&‘&1:‘&%531131%?

0 |

(a)

®)

O | O |

(©)

I

(d)

68. cos2f + cos2y foraes arax & 7

32
(a) Tl
16
(b) 31

ASGT-B-GNL - A 24

16
(c) 31

32
@ 3

AW AW A (02) 9 & fou Frafafaa
Wﬁ?ﬁﬁ'ﬁﬂq

q feagant 4 3k B % Rafy wfew s £-
IR j+k T
69. frfafes fagsit w fmr fiftm .
EEtin
24 3)

3.2 5,3)

e faget § A3 fig 4 R B
SN FTelt Y@ R o § 7

(a) &ad 1 3R 2
(b) Fae 2 3K 3
(c) *ad 13K 3
(d) 1,23R3

70. AB = i a1 ® 2
(@ 2
(b) 3
© 6
@ 3



66. What is the angle between (7'+5) and

.._’
e 7

(a)

(S

(b)

w|x

&8

(c)

@ %

Consider the following for the next two

(02) items that follow :

Let a vector @ =471—-8/+k make angles
a, B, y with the positive directions of

x, y, z axes respectively.

67. What is cosa equal to ?
1
@ 3

(b)

o |

(c)

o

WM

(d)

68. What is cos2f + cos2y equal to ?

2

@ ~3
16

® 5

25

(c)

()

16
81

32
81

Consider the following for the next two
(02) items that follow :

The position vectors of two points 4 and B

are i-J and f+fc respectively.

69. Consider the following points :

70.

LG8
2.64.3,2)
3. (-2, 5, 3)

Which of the above points lie on the
line joining 4 and B ?

(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

What is the magnitude of AB ?
(@) 2

(b) 3

() 6

@ 3
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I AW AW AT (03) WEr F ofrw I A D (02) Wt ¥ fre Prafufe
frafafes w fmr $ifrg R foer $ifs

A MG f(x)= Pe*+Qe* + Re*, wEi WM WY E V@l sEEE wHEeRm ® S

P, O, R arfas @ € | % afafcs I9-39 )2 =2cx+2cVc @ Frefm

f0)=6, f'tn3)=2823 [ (x)dx=11 %, e o G srre e £ |

74. T8 HaFA GHIET H R (order) F4T

71. Q& WH T & ? g7
(@) 1
1
(a) ®) 2
(b) 2 () 3
© 3 ' d 4
d) 4 75. T JaFA GHIE H 9T (degree) FT
®?
T.RE AR TR ? i
(®) 3
@@ 1 (c) 4
() 2 (d) =@ = sfera 7l §
) 3 WM AW e I (03) Wi F fm
frafafas w fmr $ifa .
d 4
cosx: x 1
| Hifog f(x)=[2sinx x* 2x
73. £(0) foress s @ 7 tanx x 1
(@ 18 76. £(0) o awer ® 7
(b) 16 (a) -1
(c) 15 P
(¢ 1
(d 14 (d) 2

ASGT-B-GNL - A 26



Consider the following for the next three Consider the following for the next two
(03) items that follow : (02) items that follow :

Let f(x)= Pe*+0e* + Re**, where P, O Suppose E is the differential equation repre-
R are real numbers. Further f(0)=6, senting family of curves y*=2ex+2c\c

f'(hl 3) = 282 and I:’zf(x)dx=ll where ¢ is a pOSitiVe parameter.
74. What is the order of the differential
equation ?
71. What is the value of O ?
(@) 1
(@ 1 (b) 2
(®) 2 (c) 3
d 4
© 3 (d)
75. What is the degree of the differential
d) 4
(d) equation ?
(a) 2
72. What is the value of R ?
() 3
(a) 1 (c) 4
() 2 (d) Degree does not exist
(c) 3 Consider the following for the next three
(03) items that follow :
e cosy x 1
Let f(x)=|2sinx % 2x
73. What is £7(0) equal to ? tanx x 1
(a) 18 76. What is f(0) equal to ?
(®) 16 B
(b) 0
c) 15
(©) © 1
(@ 14 (d) 2
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77.1%@%%%? so.f[%)ﬁm%m%?

(a) -1 e
(a 2
() 0
: (b) -1
(© 1 (c) 1
1
@ 2 @ 7
7s.lgnmf(x)ﬁ«aa;mtv W s A dW (03) wei ¥ fu
¥ ﬁﬁﬁﬁiﬁ“ﬁiﬂﬂﬁq
(@) -1
(b) 0 B -I; I+coszxdt %
s n l )
(€ 1 = 0 1+sin2xdx%
d) 2
o 81. ;‘i? TARHE ?
1 2
R A AN A (02) WA F o Praffaa @ 1
Wﬁ"ﬂ'l'("ﬁfﬁl’q ®) 7
WA #IT f(x) = sin[7? Jx + cos[-72 Jx et S
[.] O wEwd QUi e § |
n+1
(d) PN
79. f( )ﬁs«%m% ?
8.8/ AR TR ?
(a) -1
(@ =
®) 0 ®) 7
(C) 1 (C) ,ta
@ 2 @ =*
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77. What is lim £ equal to ?
x=0 X
(a) -1
(b) 0
(© 1

(d 2

78. What is lim J(x) equal to ?

x=0 x2
(a) -1
(®) 0
© 1

(d) 2

Consider the following for the next two
(02) items that follow :

Let f(x)=sin[7?]x+cos[-7>]x where [.]
is a greatest ‘integer function

79. What is f (33 equal to ?

@ -1
(b) 0
() 1
(@ 2

29

80. What is f[%] equal to ?

1
(a) ;]
(b) -1

(© 1
(d)

Consider the following for the next three
(03) items that follow :

(3

Let ;:j
: 0 14+cos’x

X

dx and

T sl

0 1+sin’x

dx

12‘:

L+,
What is the value OfI_I ?
142

81.

(a) 1
(b) =
(c) n’

n+1
@ -

82. What is the value of 877 ?
(@ =

(b) =?

(c) n

d =*
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83. LA AR T E ? I W A dW (03) wwl ¥ fou

Frafafaa w fmr $ifsm .
T
(@) 2 A HC f(x) = |Inx|, x#1 %
T 86. x=0-5 9 f(x) T FaHAN T 8 ?
(b) 2
(a) -2
3n
© 375 ®) -1
(c) 1
n
(d) W5 (d) 2

FRY I A A (02) WA * fore Frmfufaa 87. x=2 W f(x) W daeher 1 R ?
R faar Hifvg I

@ -3
nm?-ﬁﬁmhj':l—;-ldx, aEb |
(b) -1
84. | e R 9@ a<0<h T ?
1
@) ath © 3
(b) a-b d 2
(c) b-a :
88. fof(x) T HaFIA T 8, el 1 <x<2
(a+b) ?7?
(d) N
1
(a) i
85. | s TR e a<b<0® ?
1
(@) a+b W T
(b) a-b ;
©) b-a & iex
(a+b) J
(d) 2 d xinx
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83. What is the value of I, ? Consider the following for the next three
(03) items that follow :

(a) % Let f(x)=|inx|,x#1
86. What is the derivative of f(x) at
« x=035?
(b)
22 (a) -2
” I () -1
AT s
242 () 1
L . d 2.
@ 2
87. What is the derivative of f(x) atx=27?
Consider the following for the next two 1
(02) items that follow : @ -3
_ ol 2
Let1=["2dx, a<b ®) -1
84. What is / equal to when a<0<b? (c) %
(a) a+b @ 2
(b) a-b
88. What is the derivative of fof(x), where
() b-a 1<x<2?
+b
e i
@) Inx
85. What is / equal to when a<b<0? 1
(@) a+b ®) xnx
® a-b -
© Inx
(c) b-a
(a+b) et
@ 2 @ xinx
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3 IR A QA (02) WA F forg Freaffea
R fEr Hifeng
x+6, x<1

a7 A £ (x)={ pr+q, 1<x<2
5x, x=2

AR f(x) Tea & |
89.p MAM TR ?
(a) 2

(b) 3
(c) 4

(d 5

90. g & AF FTE ?
(a) 2

(b) 3
() 4
@ 5

91. freafafen wot w foer Hifdng
1. f(x)=lInx, (0, c0) & TAH
2. g(x)= e"‘+e%, (0, o) & BrEA B
SdTH FUAE # SN 61/8 wE R/ ?
(a) ¥aa 1
(b) Fa« 2
(c) 13K 23t
(@ T A2

ASGT-B-GNL - A
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92.

93.

94,

9s.

sin’x &1 cos’x & HeH H Fraerst 1
?7?

(a) -1

(b) 1

(c) sin2x

(d) cos2x

m<0 ®ea m & fw wm ¥ fm
Tt y=x, y=mx ¥R x=2 TR
qfterg &we 3% TR & 7

cosec(x®) T HTeherst FT § ?
(a) —cosec(x°) cot(x°)

n 3 f
(b) *E—dcosec(x ) cot(x°)

(c) %cosec (x°) cot (x°)

(d) —%6 cosec(x) cot(x)

HIHA  FHIROT (%]z-x%w F1

e R

(@ y=2
(b) y=2x+4
(© y=x*-1

_(xz-—Z)
(d y= 5




Consider the following for the next two 92. What is the derivative of sin®x with

(02) items that follow : - respect to cos?x ?
x+6, x<1 A =
Let f(x)=1px+gq, 1<x<2 (b) 1
i (c) sin2x
and f(x) is continuous ) cos2x
89. What is the value of p ? 93. For what value of m with m <0, is the
area bounded by the lines y =x, y = mx
(@ 2 and x=2 equal to 3 ?
(b) 3 @) 1
Q)
©) 4 :
-1
@ 5 (b)
3
. ) =5
90. What is the value of ¢ ? 2
@) 2 @ -2
®) 3 94. What is the derivative of cosec(x®) ?
(a) —cosec(x®) cot(x®)
(c) 4
T {e]
(d 5 (b) -ﬁmsec (x°) cot(x°)
91. Consider the following statements : © © %cosec(x") cot (x°)

1. f(x) = Inx is increasing in (0, o)

1 (d) —%cosec(x) cot (x)
2. g(x) = e*+e* is decreasing in

(0, ) 95. A solution of the differential equation

Which of the statements given above ( dy ’ LA NPT
is/are correct ? dx dx
(a) 1 only (@) y=2x
(b) 2 only (b) y=2x+4

=x2_1
(c) Both 1 and 2 e

2
2 (x”-2)

(d) Neither 1 nor 2 @) e
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96.

97.

98.

99.

e f)=2+2 IR gkx)=2x-3
2, @ (R)(1) P TR R 7

@) 3

(b) 1

) -2

@) -3

BT f(x)=x+[x| ¥ UYTH (range)

T R ? W@l WO @ Wid (Domain)
arEdfad el o qea & ?

@ (0, «)

() [0, )

(€) (-, )

@) [1, «)

e f(x)=x(4x2-3) &, T f(sinb)
v SR R 7

(a) -sin30

(b)
(©
(d)

—cos36
sin36

—sind4 @

forad e 7

lim.2=%
x—lSlx—SI

(a) -1
(®) 0
() 1
(d) drm = fers =8 ?

ASGT-B-GNL - A
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100.

101.

102.

9
lim> !

e st B 7

x—l x3_1

(@ -1

(b) -3

(c) 3

(d) "1 & s = @

I WEU % W 3R WER S

14 3 1328 9= § ¥ d9 dmwr
11, 16 3T 20 ¥ | 3= 3 Deqor =1 § 7

(a) 83K 15
(b) 9 3K 14
(c) 10 3 13
@ 11312

WA 9T 4 3R B 9 @da gead =@
TR & &

P(A)=07, P(B)=k, P(AUB)=08
RlhkwamT g ?

5
(a) 7

S N

(®)

(©

SRS

(d)

~J | -



96. If f(x)=x>+2 and g(x) = 2x -3, then
what is (fg)(1) equal to ?

(a)

3

(b) 1

(c)

-2

(d -3

97. What is the range of the function
f(x) =x+ |x| if the domain is the set of
real numbers ?

(a)

0, »)

(b) [0, «)

(©
(d)

(—00, 0.'.))

[1, @)

98, If f(x)=x(4x*—3), then what is
f(sin@) equal to ?

(a)
(b)
(c)
(d

—sin36
—c0s36
sin36

—sind48

99. What is lim >—*. equal to ?

(a)
(b)
(©)
(d)

x-5|x 5|
-1
0

1

Limit does not exist

35

SR S |
100. What is lim : equal to ?

¥ =1
(a -1
(b) -3
(c) 3

(d) Limit does not exist

. The mean and variance of five obser-

vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(a) 8 and 15

(b) 9 and 14

(¢) 10 and 13

(d) 11 and 12

. Let A and B be two independent events

such that
P(4)=07, P(B)=k, P(AUB)=08.
What is the value of £ ?

Qlw

(2)

|

(®)

(©)

~3| M

(d)

|-
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103.

104.

105.

wE dAfhea s @ et e (head)
mﬁiﬁnﬁaﬁnié, e 4R I8l
ST R | 6 | 6w ik €
TR W TR Il A GE (tail) AT AR
Sas @G fua sy ?

81

@ 352

81

®) 1024

81

T

27

(d)f(ﬁ;
w foaw w war aftma € 6 e
o (head) S it WHEAT 92 (tail) TR
Ft wwE ¥ for R | R & SR
o JoE § e 9 Ra am
1 yifdear § ?

81

(a) E

27

&) =

27

(c) EG'

2
256

A e x 3R ¥ @ argfes R om
TR € 6 X+ 7Y=100 % | aR w=w
n =100 R p = £ &feq x fiug sea =
HTERVT AT §, AT Y WA T ?

(d

ASGT-B-GNL - A

106.

107.

108.

@) 1
1
® >
() 16
1
(d 16

e x+4p+1=03R4x+9+7=0
A qEPEY @ § @ " =38 @
xHAA TR ?

(@) -13

(b) -5

() 5

@ 7

T&H g9 A1¢ (Pie Chart) & wR =g
3l () & Fa Fi p, g, r AR s
(fsft #) weg 9p=3g = 2r=6s H
I oA € | dp—g N 9 T R 7
(a) 12

(b) 24

(c) 30

(d 36

4,1,4,3,6,2,1,3,4,5,1, 6 ¥&wr 12
9TET U G919 $h 9 1 qRoms € |
gfe m IR M FA9: 798 S § Aeqont
AR TR T3 4 Yot F wem F, @
(2m + M) fores ST R 7

(a) 10

(b) 12

(c) 17

(d 21



103.

104.

105.

A biased coin with the probability of
getting head equal to % is tossed five
times. What is the probability of

getting tail in all the first four tosses
followed by head ?

81
@ 353

81

(b)ﬁ

8L

© 356
27
(d) T02a

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is
probability of getting exactly three
heads ?

81

® 25

27
(b) @

oy 2L

() =

Let X and ¥ be two random variables
such that X+ Y=100. If X follows

Binomial distribution with parameters
n=100 and p = %, what is the variance
of Y?

(@) 1

1
(b) 3
(c) 16

1
(d) %

106. If two lines of regression are

x+4y+1=0 and 4x+9%+7=0,
then what is the value of x when
y==31

(a) -13
®) -5
(¢) 5
(d) 7

107. The central angles p, ¢, r and s

(in degrees) of four sectors in a
Pie Chart satisfy the relation 9p =3¢ =
2r=6s. What is the value of 4p—-¢q ?

@ 12
(b) 24
() 30
(d) 36

108. The observations 4, 1, 4, 3, 6, 2, 1,

3,4,5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and
highest 4 observations respectively,
then what is (2m + M) equal to ?

(a) 10
(b) 12
() 17
@ 21
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109. 7% foR 31 weaa # ¥F=w @ fig

110.

111.

LD B 2F I yH xR
T @1 T B ?

(@ x-4y+5=0
(b) 3x+2y-1=0
(c) x+4y+1=0
(d) Sx-4y+1=0

TF I8 S 10 IR IS AT © IR
e afomm aw B €

12 1,21,4.6.5,4

T WER WTH 32T (data) F Sged 1
' ?

(@) 6
®) 4
(© 2
@ 1
frafafeq sferRar sz W fEr
T

x 1 2 3 5

Ll %, ek WY e N e

Fe f A F A TR ?
(@ 1
(b) 2
() 3
d) 35

ASGT-B-GNL - A

38

2. 901, 14,3, 81271719, 9. 11

113.

114.

& forg, afe Maeer 5 Qi i i
2 @R N e o= Jevi f wifer
R, MAM-N A TR ?

@ 7
() 4
() 1
@ o

T sﬁﬁqﬁmaﬁsp=4g=§
% o P, 0, R A wiem, wifeye
IR T @ Frefm =@ €1 @

P+Q
1 HA FT BT ?
2P+07R L

1
12

(a)

1
=

(©

Ol

—

(d)

wE 1,2,22,23, ..., 2%, & OIRR
AEA G R, A 1+ 2log,G ® WA FI
??

(@ 1

(b) 4

() n—1

(d) n



109.

110.

111.

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

(a) x—4y+5=0
(b) 3x+2y-1=0
(c) x+4p+1=0

(d) Sx-4y+1=0

A die is thrown 10 times and obtained
the following outputs :

1,21, 1,21,4,6,5 4

What will be the mode of data so
obtained ?

(a) 6
(b) 4
(c) 2

(d 1
Consider the following frequency
distribution :

x 1 2 3 5
£ 1 e aaaizart 7

What is the value of median of the
distribution ?

(@ 1
(b) 2
© 3
d) 35

39

112.

113.

114.

For data -1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of
last five observations, then what is
the value of 4M - N?

(a) 7
(b) 4
© 1
@ o

Let P, O, R represent mean, median

and mode. If for some disu;bubion
R : +

bl e Lt ¥ 7Y

equal to ?

1
(a) o

1
®) =z

(©)

=Rl

1
@z

If G is the geometric mean of numbers

1,2,22% 2% ...,2"], then what is the
value of 1+ 2log,G ?

(@ 1
(b) 4
(¢) n-1
@d n
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115. af§ "ewsit 1,2, 22,23, ..., 2 & 118. 19 9 % o € | @ wifear €

gmmwrftﬁrnm%a%w TS5 W &ad 3 & U 1Y, ?
?
1

1 (@ —
(a) 2- 9

2]’!1‘1

1 7
(b) 2—2“_1 ® 15

1 1
(C) 2 +25.-] (c) "2'_;,'

1 1
B =
(d o @ 3

llﬁ.mwm X1y X2, X3, - ..x,,Eﬁ

Bt p, s 0 o e £ & 119. 71 widwar ¢ & R & wdm &

: seER E ?
A S=3" (2x,-a)’ }, SH @ 1 .
A AW BN 916 g S §
@ P ®) +
Q 4
(b) > 3
) =
(c) 20 7
@ R 2
(d) 7

117. T 43 # 3 W% 3R 2wt W E, W
FH2 TR MITARE AR 20 et 50 et st 3 2 @

e & | Fre R g 4 # @ R ; s sl
m%aﬂ‘(ﬁﬂ@ﬂﬁﬁ%@ﬁa H‘@;{:Tﬁ 21w e
Forepreft et @ | = e @ 6 g e n+S-<S0 R ?
| ? 23
@ 2 i
] 47
33 (b) —
(b) 20 50
3 24
(c) P © 25
1 49
(d) = (d) 50

ASGT-B-GNL - A 40



115. If H is the harmonic mean of numbers 118. Three dice are thrown. What is the

1,2 222 ...,2% then what is probability that each face shows only
n/H equal to ? . multiples of 3 ?
1 .
g ‘
(b) 2- 1
25*‘1 (b) o o,
18
1
(c) 2+ = p i
1 27
(d) 2—? i
d -
(d) 3

116. Let P be the median, O be the mean
and R be the mode of observations ) =3
X1 X3 X3, - - - X Let S = E:;l @x; - a)> 119. What is the probability that the month

e ? of December has 5 Sundays ?
S takes minimum value, when a is

equal to (@ 1
@ P 1
0 (b) 2
(b) %
3
(© 20 © 3
(d R 2
(d) =

117. One bag contains 3 white and 2 black

balls, another bag contains 2 white 3
and 3 black balls. Two balls are 120. A natural number 7 is chosen from the

drawn from the first bag and put it first 50 natural numbers. What is the
into the second bag and then a ball is probability that n + 50 <509
drawn from the second bag. What is 23
the probability that it is white ? 23
() e
s 25
o % 47
33 (b) —
- 5
(b) = 0
24
3 o
() E ©) 25
1 49
— d pre g
@ 70 @ 50

41 " A-ASGT-B-GNL
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Answer Sheet liable for rejection.
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This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
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(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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